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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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G3-4

BrE) | GEBATK (F) | EHRE(EH/AR) | EREE (G/R) [ KR R

05:55 131 80.0 1.728 5| THAe05:55 KENFERF (RFI1EELER)
06:55 131 80.0 1.728 5| THA@06:55 KRENFERF (RF1RELER)
07:55 131 80.0 1.728 5| THe07:55 REFEF (KAERSE)
08:55 131 80.0 1.728 5| TiHAe08:55 RHIEF (KREAERER)
09:50 131 80.0 1.728 5| THR09:50 KENFERF (RF1RREEED)
10:50 131 80.0 1.728 & FiHfe10:50 KEIFEF (REERS)
11:50 131 80.0 1.728 5| FHAe11:50 KEIEFE CGRAFEESE)
12:50 131 80.0 1.728 E|  FH@12:50 KEFEF (RAERE)
13:50 131 80.0 1.728 | FHEAe13:50 KEFEF (KAERESE)
14:55 131 80.0 1.728 5| FHAe14:55 KEIEFE CGRAFESE)
16:10 131 80.0 1.728 5| FHEA@16:10 KENFEF CGRA{EEEE)
2t 14410 (110%) 880.0 32 03KEC: 3000.0, PH: 6.5

unusual large postFgEt from yesterday (266), set to 240.0 ml.
REXEBIPH (10.45) 5i&7EPH (6.48) REKK, 15HE
REXFEBIPH (10.45) 5FMPH (6.5) RERK, EHRE

[E;&EC 4035.0 K5, EiFARECAER MItER

BE[EIRECE (2832. 0 vs 4035.0) R e
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G3-4

BfiE) | GEBATK (RY) | EHRE (EA/K) | ERERE (B/R) | XS R

06:25 131 80.0 1.728 E BRi&e06:25 Bal (RAERE)
07:15 131 80.0 1.728 E|  {Rig&e07:15 Bah (RFE{EREE)
08:05 131 80.0 1.728 = {RRi8008:05 B (FRFAEEE)
09:05 131 80.0 1.728 5 {Ri%@09:05 B3 (KRFAERSE)
10:00 131 80.0 1.728 5| {Ri%@10:00 B3 (RAERSE)
10:55 131 80.0 1.728 = {Ri%@10:55 B3 (RAERSE)
11:55 131 80.0 1.728 Sl {Rige11:55 Bz (REAERSE)
13:10 131 80.0 1.728 E| {Rig@13:10 B3h (RE{ERSE)
14:10 131 80.0 1.728 E BRige14:10 Bz CGRAERESE)
15:05 131 80.0 1.728 S| {Rig@15:05 B (REAERSE)
15:55 131 80.0 1.728 =l Fzhe15:55 B3 (RFAEDSE
16:55 131 80.0 1.728 F BRige16:55 Bz (GRAEREE)
Bit] 1572.0 (12)%) 960. 0 3ZFHKEC: 3000.0, PH: 6.5

LRGER R R IR ER 32 (300 vs 131.0))
PRIASLPRIERE183.0 ml.

BEXREBIPH (10.48) 5i&EPH (6.5) REK K, HRE
REREBIPH (10.48) 5FMPH (6.5) MERKA, BFHRE
LRGEBREC (2844.0) S51EENEY (2340.0) RERK, HHRE.
ERGEBPH (10.4) 5% EE (6.3) RERK, FNRE.
ERGEBPH (10.4) S5EEIEW (6.5 RERK, BERE.
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G3-4

BrE) | GEBAKE) | ERE(EH/R) | EREE (F/R) [ XK R

05:55 131 80.0 1.728 5| {Ri%@05:55 B3 (FRFAERSE)
06:55 131 80.0 1.728 = {RRiB006:55 B (FRFAEEE)
08:20 131 80.0 1.728 | =| 1Ri%e08:20 Bz (kAEREEE)
09:20 131 80.0 1.728 FA| 1BRi%@09:20 B3h (KRA{ERSE)
10:20 131 80.0 1.728 FA| 1BRi%@10:20 B3h (KRAHEREE)
11:20 131 80.0 1.728 FA| 1B2i%@11:20 Bzh (kA{EREE)
12:30 131 80.0 1.728 FA| 1BRi%@12:30 B3h (RABERESE)
13:40 131 80.0 1.728 |Z=| 1BRige13:40 Bzh (REERESE)
14:50 131 80.0 1.728 | =| 1Ri%e14:50 Bz (kBEREE)
16:25 131 80.0 1.728 (2 =| 1Ri%016:25 Bz (REAEHSR)
213t 1310.0 (100%) 800. 0 32 03KEC: 3000.0, PH: 6.5

large discrepency for begining water status (159:246.0), set to 159 ml.
REXEBIPH (10.56) S5i&EPH (6.5) RER KA, HFHE

REXFEBIPH (10.56) 5FMPH (6.5) RERK, FHRE

ERGEBIEC (2780.0) SHEENEIN (2340.0) RERK, BWE.

EXGEBIPH (10.4) 518 %EE (6.5 RERK, FRE.

ERGEBIPH (10.4) S5iREE (6.5) REKK, HRE.



G3-4_0, Day=24 (2025-06-05)
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G3-4

BfiE) | GEBATK () | ERE(EA/K) | ERERE (B/R) | XS ERE

06:15 131 80.0 1.728 E BRi&e06:15 Bzl (RAERE)
07:05 131 80.0 1.728 E|  {Ri1ge07:05 Bah (RFE{EREE)
07:55 131 80.0 1.728 = {RRiB@07:55 B (RFAEEE)
08:55 131 80.0 1.728 5| {Ri%@08:55 Bz (KRFAERSE)
09:50 131 80.0 1.728 5| {Ri%@09:50 Bz (FRFAERSE)
10:45 131 80.0 1.728 = {Ri%010:45 B3 (RAERSE)
11:45 131 80.0 1.728 S {Rige11:45 B3 (REAERSE)
12:55 131 80.0 1.728 E| {Rige12:55 Bah (RE{ERSE)
14:05 131 80.0 1.728 E BRige14:05 Bz CGRAERESE)
14:55 131 80.0 1.728 S| {Rige14:55 B (REAERSE)
15:45 131 80.0 1.728 E BRige15:45 Bz (GRAERSE)
16:40 131 80.0 1.728 E BRige16:40 Bz (GRAERE)
Bit] 1572.0 (12)%) 960. 0 3ZFHKEC: 3000.0, PH: 6.5

REXRERIPH (10.84) 5i8EPH (6.5) IREW K, BT
FERERIPH (10.84) 5FPH (6.5 REKK, FHE
LORGEBIEC (2736.0) S1EAEY (2340.0) RERK, BWE.
LORGEBIPH (10.5) 5i&EE (6.5) wERK, BRE.
LRGERPH (10.5) SiRBIE (6.5) RERK, BRE.




G3-4_0, Day=23 (2025-06-04)
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G3-4

BrE) | GEBAK (F) | EHRE(EH/AR) | EREE (G/R) [ XS R

06:35 129 80.0 1.728 E  1BRi%e06:35 BE1 (RAERERE)
07:25 129 80.0 1.728 F BRige07:25 Ba (GRAERESE)
08:25 129 80.0 1.728 = {Ri%e08:25 Bz (RAERSE)
09:25 129 80.0 1.728 F BRi&e09:25 Bzl (RAERE)
10:20 129 80.0 1.728 = Ri8010:20 Bah (RAEESE)
11:15 129 80.0 1.728 =l {Rige11:15 B3 (GRAERSE)
12:20 129 80.0 1.728 E BRige12:20 Bz (GRAERESE)
13:25 129 80.0 1.728 5| {Ri%e13:25 B3 (RAERSE)
14:20 129 80.0 1.728 =l {Rig014:20 B3 (RAERSE)
15:10 129 80.0 1.728 E BRige15:10 Bz CGRAEREE)
16:00 129 80.0 1.728 El BRi&e16:00 Bz (GRAEREE)
23t 1419.0 (110%) 880.0 32 3FKEC: 3000.0, PH: 6.5

REXRERIPH (10.66) 5i8EPH (6.5) IREWR K, BT
FEREIPH (10.66) 5FMPH (6.5) REKK, FHE
LRGEBRIEC (2785.0) S5iREVEY (2340.0) REK K, BHRE.
LEORGEBIPH (10.7) 5i1&8EE (6.5) wERK, BRE.
LERGERPH (10.7) S5iRBIE (6.5) RERK, BRE.



G3-4_0, Day=22 (2025-06-03)

B0 ———— = —— e ———— e —— e ——mmm—m———mmmm——mmmmmmm—mmm——mmm——mm—mm—————mm——— =]

60

40

20 A

100 5

~
()]
1

FRV (ml plant-1)
()]
3
1

N
(4]
1

960, VQERV, ET — VI, VO, FVI, EVO, FRV, ad jFRV, ET

97 Warning: lcol [FVI',| "FVO’'] missing
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